Riviera Beach CRA Payment Authorization Checklist

Vendor Name:	J MICHAEL HAY	GOOD	
Control No.:	NA	Invoice No.:	NC-145
	ebruary 5, 2020	<u> </u>	nt: \$8,427.00
Project Supervis	sor/Responsible Offic	ial: SCOTT EVANS	
			Reviewed/Approved
☐ Project "sco	pe of work and deliv	verables" reviewed?	M/St
Q Payment su work scope?		on appropriate based on	1) SE
☑ Deliverables	s due with this invoi	ce have been received?	1/56
☐ If final payr	nent, have all delive	rables been received?	
schedule or		ment with payment is within the limits of a cumulative amount	A ISE
-	imbursement amour or amounts approved		1 /se
☐ The nature of the CRA	0.	rmed is within the scope	11/50
 	r payment have bee from the appropria	_	J/ слк
	d for payment. for Scott Even	Date:	
	ACCOUNT = 81150101-5310		
X Payment a	approved by the Boa	ard of Commissioners by	y: Motion NoNA
or the Consent	Agenda, at its meet	ing on NA	. (If applicable)

R	IVIERA E	BEACH COMMUNITY REDEVE	LOPMENT AG	ENCY	
		PAYMENT REQUISITION	FORM		
TODAYS DATE:		2/5/2020			ВСР
VENDOR NAME:		J MICHAEL HAYGOOD			C&S
VENDOR #:		12285			CDE
INVOICE #:		NC-145		Χ	CRA
INVOICE DATE:		2/5/2020			MEC
PO #:	-				MV
COMPLETED BY:		TAMARA SEGUIN			RBEC,LLC
FUND ACCOUNT NU	IMBER	DESCRIPTION		JOB .	AMOUNT
811-50101-5310	000	FEBRUARY 2020 GENERAL ADMINISTRA	ATION LEGAL FEES		\$ 8,427.00
			JNVO	CE TOTAL	\$8,427.00
COMMENTS:		APPROVED BY:	11119	CL TOTAL	\$8,427.00
		A A A	Ter VSco	tt Evo	kı_,
CRA POLICY ON PURCHASES LE	SS THAN \$2,5	00 REQUIRES THAT THE PURCHASE PRICE IS "FAIR A	AND REASONABLE." IF O	OMPETITIVE QUOTE	S ARE REQUIRED.
		AND SUBMIT QUOTES WITH INVOICE. IF UNDER \$2	,		
MARKET TREND, PREVIOUS PUR	V YOU DETERM CHASE, CATAL	MINED THAT THE PRICE IS FAIR AND RESONABLE; EXA OG PRICE, ADVERTISING PUBLICATIONS, ETC. AND REASONABLE. MY REASONS INCLUDE:	AMPLES INCLUDE: PROFE	ESSIONAL MARKET EX	KPERIENCE,
SECTION B - OTHER	CONTRAC	T SERVICES			
SECTION C - QUOTES					
VENDOR		PRICE QUOTED	COI	MMENT / RANKING	
1					
	1.000				
2					
3			1		
RECEIVED BY FINANCE:		PPD () A AAAA /		A	
ENTERED IN TYLER:		FEB 0 4 2020 4	#26	17	2/7
DATE MAILED:				-	



J. Michael Haygood, PA 701 Northpoint Parkway Suite 209 West Palm Beach, Florida 33401 561-684-8311

Statement

Invoice No: NC-145 Date: 2/5/20

Bill to:

Riviera Beach Community Redevelopment Agency

Scott Evans

2001 Broadway

Suite 300

Ríviera Beach, FL 33404

General Administration

Hourl	v Fees				
<u>Date</u>	<u>Description</u>	<u>Timekeeper</u>	<u>Time</u>	<u>Rate</u>	<u>Amount</u>
1/2/20	Telephone Conference	J. Míchael Haygood	0.4 hrs	\$265.00/HR	\$106.00
	Telephone conference with	Greg Kummerlen.			
1/2/20	Review Document	J. Míchael Haygood	0.8 hrs	\$265.00/HR	\$212.00
	Review POA for Single Fam	uly Home Beautificati	on.		
1/6/20	Revise Document	J. Míchael Haygood	0.8 hrs	\$265.00/HR	\$212.00
	Review of Rafi Kiki Lease.				
1/6/20	Telephone Conference	J. Míchael Haygood	0.4 hrs	\$265.00/HR	\$106.00
	Telephone conference with	Bill Mueller.			
1/7/20	Meeting	J. Míchael Haygood	1.5 hrs	\$265.00/HR	\$397.50
	Meeting with Scott Evans r	e: Villari Group Agreer	nent.		
1/8/20	Telephone Conference	J. Michael	0.3 hrs	\$265.00/HR	\$79.50

Haygood Telephone conference with Lina Bushy. 1/9/20 Review File J. Michael Haygood Review of surveys for Exchange Properties. 1/9/20 Document Review J. Michael Newyood Review of Viking Merger documents. 1/13/20 Meeting Merger documents. 1/13/20 Meeting Merger documents. 1/14/20 Revise Document J. Michael 1.5 hrs \$265.00/HR \$397.50 Haygood Revised IT agreement. 1/15/20 Telephone Conference J. Michael 1.2 hrs \$265.00/HR \$318.00 Haygood Telephone conference With Bill Mueller. 1/15/20 Revise Document J. Michael 0.3 hrs \$265.00/HR \$79.50 Haygood Preparation of revised contract and resolution authorizing execution. 1/15/20 Review Document J. Michael 2.1 hrs \$265.00/HR \$556.50 Haygood Preparation of revised contract and resolution authorizing execution. 1/15/20 Document J. Michael 2.1 hrs \$265.00/HR \$556.50 Haygood Review of Villari Group comments to last draft of Developement Agreement. 1/15/20 Document Preparation J. Michael 1.3 hrs \$265.00/HR \$344.50 Haygood Preparation of resolution for approval of purchase from Gerald Properties. 1/16/20 Telephone Conference J. Michael 1.8 hrs \$265.00/HR \$79.50 Haygood Telephone conference With Greg Kummerlini 1/16/20 Document Preparation J. Michael 1.8 hrs \$265.00/HR \$477.00 Haygood Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael 1.8 hrs \$265.00/HR \$477.00 Haygood Preparation of resolution approving Villari group agreement.			Haygood			
Telephone conference with Lina Bushy. 1/9/20 Review File J. Michael Haygood Review of surveys for Exchange Properties. 1/9/20 Document Review J. Michael Roygood Review of Viking Merger documents. 1/13/20 Meeting with CRA Staff: 1/14/20 Revise Document J. Michael Haygood Review of Viking Merger document Store Staff: 1/15/20 Telephone Conference J. Michael O.3 hrs \$265.00/HR \$318.00 Telephone conference with Bill Mueller. 1/15/20 Revise Document J. Michael Auggood Preparation of revised contract and resolution authorizing execution 1/15/20 Review Document J. Michael 2.1 hrs \$265.00/HR \$556.50 Haygood Review of Villari Group comments to last draft of Developemnt Agreement. 1/15/20 Document Preparation J. Michael 1.3 hrs \$265.00/HR \$344.50 Haygood Review of Villari Group comments to last draft of Developemnt Agreement. 1/16/20 Telephone Conference J. Michael 1.3 hrs \$265.00/HR \$344.50 Haygood Telephone conference J. Michael 1.3 hrs \$265.00/HR \$344.50 Preparation of resolution for approval of purchase from Gerald Properties. 1/16/20 Telephone Conference J. Michael 1.8 hrs \$265.00/HR \$79.50 Haygood Telephone conference With Greg Kummerlina 1/16/20 Telephone Conference J. Michael 1.8 hrs \$265.00/HR \$79.50 Haygood Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael 1.8 hrs \$265.00/HR \$477.00 Review of title commitments for Exchange of properties with Viking Entities. 1/16/20 Telephone Conference J. Michael 0.4 hrs \$265.00/HR \$609.50 Review of title commitments for Exchange of properties with Viking Entities.		Telephone conference with And	lre Lewis.			
1/9/20 Review File J. Michael Haygood Review of surveys for Exchange Properties. 1/9/20 Document Review J. Michael Haygood Review of Viking Merger documents. 1/13/20 Meeting J. Michael 1.5 hrs \$265.00/HR \$397.50 Meeting with CRA Staff. 1/14/20 Revise Document J. Michael Haygood Revised IT agreement. 1/15/20 Telephone Conference J. Michael Haygood Telephone conference with Bill Mueller. 1/15/20 Revise Document J. Michael 2.1 hrs \$265.00/HR \$556.50 Meeting Preparation of revised contract and resolution authorizing execution. 1/15/20 Review Document J. Michael 2.1 hrs \$265.00/HR \$556.50 Meeting Preparation of revised contract and resolution authorizing execution. 1/15/20 Review Document J. Michael 2.1 hrs \$265.00/HR \$556.50 Meeting of Villari Group comments to last draft of Developement Agreement. 1/15/20 Document Preparation J. Michael 1.3 hrs \$265.00/HR \$344.50 Mexical Preparation of resolution for approval of purchase from Gerald Properties. 1/16/20 Telephone Conference J. Michael 1.8 hrs \$265.00/HR \$79.50 Mexical Haygood Telephone conference with Greg Kummerlin. 1/16/20 Document Preparation J. Michael 1.8 hrs \$265.00/HR \$79.50 Mexical Haygood Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael 1.8 hrs \$265.00/HR \$79.50 Mexical Haygood Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael 2.3 hrs \$265.00/HR \$609.50 Mexical Document Preparation of Exchange of properties with Viking Entities.	1/8/20	Telephone Conference		0.3 hrs	\$265.00/HR	\$79.50
Haygood Review of surveys for Exchange Properties. 1/9/20 Document Review J. Michael 0.8 hrs \$265.00/HR \$212.00 Review of Viking Merger documents. 1/13/20 Meeting Merger documents. 1/13/20 Meeting with CRA Stuff: 1/14/20 Revise Document J. Michael 1.2 hrs \$265.00/HR \$397.50 Revised IT agreement. 1/15/20 Telephone Conference J. Michael 1.2 hrs \$265.00/HR \$79.50 Haygood Telephone conference with Bill Mueller. 1/15/20 Revise Document J. Michael 2.1 hrs \$265.00/HR \$556.50 Preparation of revised contract and resolution authorizing execution. 1/15/20 Review Document J. Michael 2.1 hrs \$265.00/HR \$556.50 Review of Villari Group comments to last draft of Developement Agreement. 1/15/20 Document Preparation J. Michael 1.3 hrs \$265.00/HR \$344.50 Review of Villari Group comments to last draft of Developement Agreement. 1/15/20 Document Preparation J. Michael 1.3 hrs \$265.00/HR \$344.50 Review of Villari Group comments to last draft of Developement Agreement. 1/16/20 Document Preparation J. Michael 1.3 hrs \$265.00/HR \$79.50 Review of telephone conference J. Michael 0.3 hrs \$265.00/HR \$79.50 Review of telephone to with Greg Kummerlini 1/16/20 Document Preparation J. Michael 1.8 hrs \$265.00/HR \$79.50 Review of telephone conference with Greg Kummerlini 1/16/20 Revise Document J. Michael 2.3 hrs \$265.00/HR \$477.00 Review of telephone Conference J. Michael 2.3 hrs \$265.00/HR \$609.50 Review of title commitments for Exchange of properties with Viking Entities. 1/16/20 Telephone Conference J. Michael 0.4 hrs \$265.00/HR \$609.50		Telephone conference with Line	a Busby.			
1/9/20 Document Review J. Michael Haygood Review of Viking Merger documents. 1/13/20 Meeting J. Michael 1.5 hrs \$265.00/HR \$397.50 Haygood Meeting with CRA Staff: 1/14/20 Revise Document J. Michael 1.2 hrs \$265.00/HR \$318.00 Haygood Revised IT agreement. 1/15/20 Telephone Conference J. Michael 0.3 hrs \$265.00/HR \$79.50 Haygood Telephone conference with Bill Mueller. 1/15/20 Revise Document J. Michael 2.1 hrs \$265.00/HR \$556.50 Haygood Preparation of revised contract and resolution authorizing execution. 1/15/20 Review Document J. Michael 2.1 hrs \$265.00/HR \$556.50 Haygood Review of Villari Group comments to last draft of Developement Agreement. 1/15/20 Document Preparation J. Michael 1.3 hrs \$265.00/HR \$344.50 Haygood Preparation of resolution for approval of purchase from Gerald Properties. 1/16/20 Telephone Conference J. Michael 0.3 hrs \$265.00/HR \$79.50 Haygood Telephone conference with Greg Kummerlin. 1/16/20 Document Preparation J. Michael 1.8 hrs \$265.00/HR \$79.50 Haygood Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael 1.8 hrs \$265.00/HR \$477.00 Haygood Review of title commitments for Exchange of properties with Viking Entities. 1/16/20 Telephone Conference J. Michael 0.4 hrs \$265.00/HR \$609.50 Haygood	1/9/20	Review File	그 선생님, 아이들이 얼마 없었다는 그 같은 것이다.	1.3 hrs	\$265.00/HR	\$344.50
Review of Viking Merger documents. 1/13/20 Meeting J. Michael 1.5 hrs \$265.00/HR \$397.50 Haygood Meeting with CRA Staff: 1/14/20 Revise Document J. Michael 1.2 hrs \$265.00/HR \$318.00 Haygood Revised IT agreement. 1/15/20 Telephone Conference J. Michael 0.3 hrs \$265.00/HR \$79.50 Haygood Telephone conference with Bill Mueller. 1/15/20 Revise Document J. Michael 2.1 hrs \$265.00/HR \$556.50 Haygood Preparation of revised contract and resolution authorizing execution. 1/15/20 Review Document J. Michael 2.1 hrs \$265.00/HR \$556.50 Haygood Review of Villari Group comments to last draft of Developemnt Agreement. 1/15/20 Document Preparation J. Michael 1.3 hrs \$265.00/HR \$344.50 Haygood Preparation of resolution for approval of purchase from Gerald Properties. 1/16/20 Telephone Conference J. Michael 0.3 hrs \$265.00/HR \$79.50 Haygood Telephone conference with Greg Kummerlin. 1/16/20 Document Preparation J. Michael 1.8 hrs \$265.00/HR \$79.50 Haygood Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael 1.8 hrs \$265.00/HR \$477.00 Haygood Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael 2.3 hrs \$265.00/HR \$609.50 Haygood Review of title commitments for Exchange of properties with Viking Entities.		Review of surveys for Exchange	Properties.			
1/13/20 Meeting J. Michael Haygood Meeting with CRA Staff. 1/14/20 Revise Document J. Michael 1.2 hrs \$265.00/HR \$318.00 Revised IT agreement: 1/15/20 Telephone Conference J. Michael 0.3 hrs \$265.00/HR \$79.50 Telephone conference with Bill Mueller. 1/15/20 Revise Document J. Michael 2.1 hrs \$265.00/HR \$556.50 Preparation of revised contract and resolution authorizing execution. 1/15/20 Review Document J. Michael 2.1 hrs \$265.00/HR \$556.50 Review of Villari Group comments to last draft of Developement Agreement. 1/15/20 Document Preparation J. Michael 1.3 hrs \$265.00/HR \$344.50 Preparation of resolution for approval of purchase from Gerald Properties. 1/16/20 Telephone Conference J. Michael 0.3 hrs \$265.00/HR \$79.50 Haygood Telephone conference with Greg Kummerlin 1.8 hrs \$265.00/HR \$477.00 Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael 1.8 hrs \$265.00/HR \$477.00 Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael 2.3 hrs \$265.00/HR \$477.00 Preparation of resolution approving Villari group agreement. 1/16/20 Telephone Conference J. Michael 0.4 hrs \$265.00/HR \$609.50 Review of title commitments for Exchange of properties with Viking Entities.	1/9/20	Document Review		0.8 hrs	\$265.00/HR	\$212.00
Haygood Meeting with CRA Staff. 1/14/20 Revise Document J. Michael 1.2 hrs \$265.00/HR \$318.00 Revised IT agreement: 1/15/20 Telephone Conference J. Michael 0.3 hrs \$265.00/HR \$79.50 Telephone conference with Bill Mueller. 1/15/20 Revise Document J. Michael 2.1 hrs \$265.00/HR \$556.50 Preparation of revised contract and resolution authorizing execution. 1/15/20 Review Document J. Michael 2.1 hrs \$265.00/HR \$556.50 Review of Villari Group comments to last draft of Developemnt Agreement. 1/15/20 Document Preparation J. Michael 1.3 hrs \$265.00/HR \$344.50 Preparation of resolution for approval of purchase from Gerald Properties. 1/16/20 Telephone Conference J. Michael 0.3 hrs \$265.00/HR \$79.50 Haygood Telephone conference with Greg Kummerlin 1/16/20 Document Preparation J. Michael 1.8 hrs \$265.00/HR \$477.00 Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael 2.3 hrs \$265.00/HR \$477.00 Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael 2.3 hrs \$265.00/HR \$609.50 Review of title commitments for Exchange of properties with Viking Entities. 1/21/20 Telephone Conference J. Michael 0.4 hrs \$265.00/HR \$106.00		Review of Viking Merger docum	ients.			
1/14/20 Revise Document J. Michael Haygood	1/13/20	Meeting		1.5 hrs	\$265.00/HR	\$397.50
Revised IT agreement. 1/15/20 Telephone Conference J. Michael 0.3 hrs \$265.00/HR \$79.50 Haygood Telephone conference with Bill Mueller. 1/15/20 Revise Document J. Michael 2.1 hrs \$265.00/HR \$556.50 Preparation of revised contract and resolution authorizing execution. 1/15/20 Review Document J. Michael 2.1 hrs \$265.00/HR \$556.50 Review of Villari Group comments to last draft of Developement Agreement. 1/15/20 Document Preparation J. Michael 1.3 hrs \$265.00/HR \$344.50 Review of Villari Group comments to last draft of Developement Agreement. 1/16/20 Telephone Conference J. Michael 1.3 hrs \$265.00/HR \$79.50 Review of Villari Group Comments to last draft of Developement Agreement. 1/16/20 Telephone Conference J. Michael 0.3 hrs \$265.00/HR \$79.50 Review of Villari Greg Kummerlin. 1/16/20 Document Preparation J. Michael 1.8 hrs \$265.00/HR \$477.00 Review Document J. Michael 2.3 hrs \$265.00/HR \$477.00 Review Of title commitments for Exchange of properties with Viking Entities. 1/21/20 Telephone Conference J. Michael 0.4 hrs \$265.00/HR \$106.00 Review of title commitments for Exchange of properties with Viking Entities.		Meeting with CRA Staff.				
1/15/20 Telephone Conference Haygood Telephone conference with Bill Mueller. 1/15/20 Revise Document J. Michael Haygood Preparation of revised contract and resolution authorizing execution. 1/15/20 Review Document J. Michael Haygood Review of Villari Group comments to last draft of Developement Agreement. 1/15/20 Document Preparation J. Michael Haygood Preparation of resolution for approval of purchase from Gerald Properties. 1/16/20 Telephone Conference J. Michael Haygood Telephone conference with Greg Kummerlin. 1/16/20 Document Preparation J. Michael Haygood Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael Haygood Review of title commitments for Exchange of properties with Viking Entities. 1/21/20 Telephone Conference J. Michael Haygood Review of title commitments for Exchange of properties with Viking Entities.	1/14/20	Revise Document		1.2 hrs	\$265.00/HR	\$318.00
Haygood Telephone conference with Bill Mueller. 1/15/20 Revise Document J. Michael 2.1 hrs \$265.00/HR \$556.50 Haygood Preparation of revised contract and resolution authorizing execution. 1/15/20 Review Document J. Michael 2.1 hrs \$265.00/HR \$556.50 Review of Villari Group comments to last draft of Developement Agreement. 1/15/20 Document Preparation J. Michael 1.3 hrs \$265.00/HR \$344.50 Haygood Preparation of resolution for approval of purchase from Gerald Properties. 1/16/20 Telephone Conference J. Michael 0.3 hrs \$265.00/HR \$79.50 Haygood Telephone conference with Greg Kummerlin. 1/16/20 Document Preparation J. Michael 1.8 hrs \$265.00/HR \$477.00 Haygood Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael 2.3 hrs \$265.00/HR \$609.50 Haygood Review of title commitments for Exchange of properties with Viking Entities. 1/21/20 Telephone Conference J. Michael 0.4 hrs \$265.00/HR \$106.00		Revised IT agreement.				
1/15/20 Revise Document J. Michael Haygood Preparation of revised contract and resolution authorizing execution. 1/15/20 Review Document J. Michael Haygood Review of Villari Group comments to last draft of Developemnt Agreement. 1/15/20 Document Preparation J. Michael Haygood Preparation of resolution for approval of purchase from Gerald Properties. 1/16/20 Telephone Conference J. Michael Haygood Telephone conference with Greg Kummerlin. 1/16/20 Document Preparation J. Michael Haygood Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael Haygood Review of title commitments for Exchange of properties with Viking Entities. 1/21/20 Telephone Conference J. Michael Haygood Review of title commitments for Exchange of properties with Viking Entities.	1/15/20	Telephone Conference		0.3 hrs	\$265.00/HR	\$79.50
Haygood Preparation of revised contract and resolution authorizing execution. 1/15/20 Review Document J. Michael Haygood Review of Villari Group comments to last draft of Developemnt Agreement. 1/15/20 Document Preparation J. Michael Haygood Preparation of resolution for approval of purchase from Gerald Properties. 1/16/20 Telephone Conference J. Michael Haygood Telephone conference with Greg Kummerlin. 1/16/20 Document Preparation J. Michael Haygood Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael Haygood Review of title commitments for Exchange of properties with Viking Entities. 1/21/20 Telephone Conference J. Michael Haygood Review Of title commitments for Exchange of properties with Viking Entities.		Telephone conference with Bill	Mueller.			
1/15/20 Review Document J. Michael Haygood Review of Villari Group comments to last draft of Developement Agreement. 1/15/20 Document Preparation J. Michael Haygood Preparation of resolution for approval of purchase from Gerald Properties. 1/16/20 Telephone Conference J. Michael Haygood Telephone conference with Greg Kummerlin. 1/16/20 Document Preparation J. Michael Haygood Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael Haygood Review of title commitments for Exchange of properties with Viking Entities. 1/21/20 Telephone Conference J. Michael Haygood Review of title commitments for Exchange of Properties with Viking Entities.	1/15/20	Revise Document		2.1 hrs	\$265.00/HR	\$556.50
Haygood Review of Villari Group comments to last draft of Developemnt Agreement. 1/15/20 Document Preparation J. Michael Haygood Preparation of resolution for approval of purchase from Gerald Properties. 1/16/20 Telephone Conference J. Michael Haygood Telephone conference with Greg Kummerlin. 1/16/20 Document Preparation J. Michael Haygood Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael Haygood Review of title commitments for Exchange of properties with Viking Entities. 1/21/20 Telephone Conference J. Michael Haygood Raygood Review Of title commitments for Exchange of Properties with Viking Entities.		Preparation of revised contract	t and resolution	authorizing ex	recution.	
1/15/20 Document Preparation Haygood Preparation of resolution for approval of purchase from Gerald Properties. 1/16/20 Telephone Conference J. Michael Haygood Telephone conference with Greg Kummerlin. 1/16/20 Document Preparation J. Michael Haygood Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael Haygood Review of title commitments for Exchange of properties with Viking Entities. 1/21/20 Telephone Conference J. Michael Haygood Raygood 1.3 hrs \$265.00/HR \$477.00	1/15/20	Review Document	그 집에 다시다. 경제 마리 [10] 이번 교리는 모든 10 - 10 - 10 - 10 - 10 - 10 - 10 - 10	2.1 hrs	\$265.00/HR	\$556.50
Haygood Preparation of resolution for approval of purchase from Gerald Properties. 1/16/20 Telephone Conference J. Michael 0.3 hrs \$265.00/HR \$79.50 Haygood Telephone conference with Greg Kummerlin. 1/16/20 Document Preparation J. Michael 1.8 hrs \$265.00/HR \$477.00 Haygood Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael 2.3 hrs \$265.00/HR \$609.50 Haygood Review of title commitments for Exchange of properties with Viking Entities. 1/21/20 Telephone Conference J. Michael 0.4 hrs \$265.00/HR \$106.00 Haygood		Review of Villari Group commen	nts to last draft o	f Developemnt	Agreement.	
1/16/20 Telephone Conference J. Michael Haygood Telephone conference with Greg Kummerlin. 1/16/20 Document Preparation J. Michael Haygood Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael Haygood Review of title commitments for Exchange of properties with Viking Entities. 1/21/20 Telephone Conference J. Michael Haygood Raygood **Telephone Conference** J. Michael Haygood **Telep	1/15/20	Document Preparation		1.3 hrs	\$265.00/HR	\$344.50
Haygood Telephone conference with Greg Kummerlin. 1/16/20 Document Preparation J. Michael Haygood Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael Haygood Review of title commitments for Exchange of properties with Viking Entities. 1/21/20 Telephone Conference J. Michael Haygood Haygood **Telephone Conference** **J. Michael Haygood *		Preparation of resolution for a	pproval of purcha	use from Gerald	l Properties.	
1/16/20 Document Preparation J. Michael Haygood Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael Haygood Review of title commitments for Exchange of properties with Viking Entities. 1/21/20 Telephone Conference J. Michael Haygood 0.4 hrs \$265.00/HR \$106.00 Haygood	1/16/20	Telephone Conference	: 사이 (M. C.	0.3 hrs	\$265.00/HR	\$79.50
Haygood Preparation of resolution approving Villari group agreement. 1/16/20 Revise Document J. Michael Haygood Review of title commitments for Exchange of properties with Viking Entities. 1/21/20 Telephone Conference J. Michael Haygood 0.4 hrs \$265.00/HR \$106.000		Telephone conference with Greq	g Kummerlin.			
1/16/20 Revise Document J. Michael Haygood Review of title commitments for Exchange of properties with Viking Entities. 1/21/20 Telephone Conference J. Michael Haygood 409.50 Haygood \$106.00	1/16/20	Document Preparation		1.8 hrs	\$265.00/HR	\$477.00
Haygood Review of title commitments for Exchange of properties with Viking Entities. 1/21/20 Telephone Conference J. Michael 0.4 hrs \$265.00/HR \$106.00 Haygood		Preparation of resolution appr	oving Villari gro	up agreement.		
1/21/20 Telephone Conference J. Michael 0.4 hrs \$265.00/HR \$106.00 Haygood	1/16/20	Revise Document	등 사람들 중에 있었다며 어린다 하는데 하는데 하는데 되었다.	2.3 hrs	\$265.00/HR	\$609.50
Haygood		Review of title commitments for	r Exchange of pro	perties with Vil	king Entities.	
Telephone conference with Greg Kummerlin.	1/21/20	Telephone Conference		0.4 hrs	\$265.00/HR	\$106.00
		Telephone conference with Greq	g Kummerlin.			

1/22/20	Telephone Conference	J. Míchael Haygood	0.3 hrs	\$265.00/HR	\$79.50	
	Telephone conference with Sherley.					
1/22/20	Meeting	J. Míchael Haygood	2.5 hrs	\$265.00/HR	\$662.50	
	Attendance at CRA meeting	:				
1/22/20	Revise Document	J. Míchael Haygood	0.8 hrs	\$265.00/HR	\$212.00	
	Revised contract for Constan	nt Computing.				
1/23/20	Revise Document	J. Míchael Haygood	0.5 hrs	\$265.00/HR	\$132.50	
	Revised resolution for Phase	I of Improvements t	to CRA property	У.		
1/27/20	Review Document	J. Míchael Haygood	1.1 hrs	\$265.00/HR	\$291.50	
	Review of proposed agreement for JC Planning.					
1/27/20	Review Document	J. Míchael Haygood	1.8 hrs	\$265.00/HR	\$477.00	
	Review and revised Agreeme	ent for Dairy Belle re	enovations.			
1/28/20	Review Document	J. Míchael Haygood	0.8 hrs	\$265.00/HR	\$212.00	
	Review Scott's changes to De	velopment Agreemen	rt.			
1/28/20	Revise Document	J. Míchael Haygood	0.7 hrs	\$265.00/HR	\$185.50	
	Revised Contract for Sale an	d Purchase with Ger	rald Propertie	γ.		
1/29/20	Document Preparation	J. Míchael Haygood	2.5 hrs	\$265.00/HR	\$662.50	
	Preparation of Lease Agreement for property to be purchased for parking.					
1/31/20	Revise Document	J. Míchael Haygood	0.9 hrs	\$265.00/HR	\$238.50	
	Revised legal descriptions fo	r Contract for sale o	of property from	n Gerald to CRA.		
	Hourly Fees Total		31.8 hrs	\$8	3,427.00	

Balance: \$8,427.00